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Algebra 1 ECA Remediation

Homework 13.3
Name___________________________________
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Sketch the graph of each linear inequality.
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3)  y ³ 2x - 5
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4)  y > -3x + 4
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6)  y ³ -x - 1
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Write the slope-intercept form of the equation of the line through the given point with the given
slope.

7)  through: (3, 5),   slope = 10
3

8)  through: (-1, 0),   slope = 4



©a w2^0J1J5I XKMuAtGa[ GSTo]fetawsaRr^et cLhL^CR.c H IALlflo Trbiag`hWtHsk CroehsFe`rovIeWdI.Y U vMXaodjeJ ewTihtRhg eIVnhfTiEnbigt^eG cA\lrgieubJrFao Q1^.
Worksheet by Kuta Software LLC

-3-

Answers to Homework 13.3
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7)  y = 
10
3
x - 5

8)  y = 4x + 4


